HESERBEENTEFRRERR (FH7EF4RK)

TEEHFEERKR SHTFE4R D (FIEXL) | FH7TE4A X (BIERL)
ABEHEH 3 -3 26 -1
__________________________________ C1%= k- S WL | I | N | R
GZEH(ES 5(0) -2(-2) 33(3) +3(-5)
AB B 2 0 18 +6
LIPS EER oo O ] -1
BEIER) 4 +1 24 +12
AB B 1 -3 8 -7
EXM ®E® | 0o o] R | B -1
BEIER 1 -3 9 -9
Wi EsEE 101 +2 545 +108
FE/EE] &8 | AH X K X & + H
a5 26| 5 4 9 3 3 0 2
| R/ | 24 5 3 8 3 3 0 2
6~ 8 4 1 0 2 1 0 0 0
8~10 6 1 1 2 1 1 0 0
10~12 2 0 1 1 0 0 0 0
12~14 3 1 0 0 0 1 0 1
14~16 5 2 1 2 0 0 0 0
16~18 4 0 0 1 1 1 0 1
&wE /et 2|l 0 1 1 0 0 0 0
18~20 1| 0 0 1 0 0 0 0
20~22 of 0 0 0 0 0 0 0
22~24 0| 0 0 0 0 0 0 0
O~ 2 1| 0 1 0 0 0 0 0
2~ 4 ofl 0 0 0 0 0 0 0
4~ 6 oll 0 0 0 0 0 0 0
/ \ EBRIAGSHRERR
R - BRRREE (FFRi6
B2 S5451108) ICEE!
FSAN-DESAIRE FDith, 7 E#E9E,8
M- DIcREEOoLEE
Z0EIIEL LS.
E#E3125,3 J

\ S

BRXRER,3 .'

» EE9=S
s FE3125

» ER A R
BEENR

PR B R, 5

ERXRER
01t




ZBEHRERBR (BE)

XA BFERFEERR

20

15

10 9

5 5 3 4
: - II nl

0 m I - -

12

MEL®EE  LEBR B ih X X J\EEH X R X KEMR B =3 X
m7E 16 1 1 5 3
HGHE 9 2 1 5 6 4
SRR A B3 EE N [RER A S B FEERR
= ETEE GEZR) 11
m B AR
= ETHfEE (H&EE) 1 2 11 11 L 2 2
» EFEE (EEEZE) R . é L 11
wmE., 82 Ta=
= AXTER S & E BB, KT it
o = e BT R B BE ANz
ﬁﬁfE%ﬁIL\Eﬁ% MF,F,FU
= BT E (T 0O mEE,, o EM ?T!lii 1% H
R | W L T
*Eﬁﬁﬂ:ﬁmlz !ﬂi.:.ﬂ__ EE#E-E
m BELEXEM = 1 FE %
g 1 2 11 11 111 2 2
CAEE LR WillS ERULRSHTEEY
p i 6SEUE 1k
65%1«11 ) 11 60’"64% I |
60~647% mmm 1 AR —
] .
S0RkAL > Wk
A0 — 3 - :
]
30FA  — )
25~20%; mmm 1 257005 I
16~247 I 3 16~ I
0~15% O~I5 e 1
0 2 4 6 8 10 12 0 ) 1 5 3 0

EE(EM7F4AK)

O ¥
- 5L EDBEFSA/NN—ICKDIBE BN ESRLTLET,
AIATERICEIDIBRBHNESFRELTNET,
i B - B R OB AMEMLTLES
o ,ﬁZ.ﬁ IR P DS ITEHELEMMNEHRI DI TEHNRELTLETS,
- BREBHOELGREL, M RiEER . THIBTORY 1. NEREER
rEfEMTREFITY .
O POk
TG EMERHERRLELLS,
EREROEIERICEAPLELLS.
3 B - SE PR (X - D SR E Lo EERE NI EL LS,
EERZE M DRRIT. RS EEESBERZRMIL—ILESFYELELS.



